



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## B.S (Computer Science) 6th Semester, Section A, Morning, Session Autumn 2025

Registration #	Name	CSC 210-7					CSC 302					CSC 401					CSC 503					CSC.305					CSC201				
		Linear Algebra					Programming Fundamentals					Data Structures & Algorithms					Artificial Intelligence					Introduction to Software Engineering					Computer Organization & Assembly Language				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2022-E-B-0272	Ghulam Mujtaba Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-			
B.S CS Aut-2022-M-A-0001	Abdul Raffay Kafeel	-	-	-	-	-	-	-	-	39	F	-	4	-	33	F	-	4	-	-	-	-	-	-	-	-	-	-			
B.S CS Aut-2022-M-A-0008	Fahad Aziz Dar	-	-	-	-	-	-	-	-	-	-	-	-	-	58	C	2.0	4	8.0	-	-	-	-	-	-	-	-	-			
B.S CS Aut-2022-M-A-0038	Razeena Khalid (Withheld due to F	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-				
B.S CS SP-2022-E-B-0253	Muhammad Ahmed Hassan	19	F	-	3	-	-	-	-	-	-	-	-	-	31	F	-	4	-	-	-	-	-	-	-	-	-	-			
B.S CS SP-2022-M-A-0040	Murtaza Hussain Ali Jan	-	-	-	-	70	B	3.0	4	12.0	-	-	-	-	41	F	-	4	-	-	-	-	-	-	-	-	-				
B.S CS SP-2022-M-A-0042	Noor Ul Islam	-	-	-	-	-	-	-	-	-	-	-	-	-	71	B	3.0	4	12.0	-	-	-	-	-	-	-	-	-			
B.S CS SP-2022-M-B-0076	Hassan Saeed	-	-	-	-	-	-	-	-	51	D	1.5	4	6.0	50	D	1.5	4	6.0	55	C	2.0	3	6.0	-	-	-	-			
B.S CS SP-2023-Eve-0213	Isamul Haq	-	-	-	-	-	-	-	-	-	-	-	-	33	F	-	4	-	83	A	4.0	3	12.0	-	-	-	-				
B.S CS SP-2023-M-A-0002	Ahsan Khan	-	-	-	-	-	-	-	-	-	-	-	-	53	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-				
B.S CS SP-2023-M-A-0005	Ansa Bibi	-	-	-	-	-	-	-	-	-	-	-	-	87	A	4.0	4	16.0	-	-	-	-	-	-	-	-	-				
B.S CS SP-2023-M-A-0007	Ashiq Hussain	-	-	-	-	-	-	-	-	-	-	-	-	53	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-				
B.S CS SP-2023-M-A-0008	Bader-Ur-Rehman	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	4	10.0	-	-	-	-	-	-	-	-	-				
B.S CS SP-2023-M-A-0009	Hasnain Habib Abbasi	-	-	-	-	-	-	-	-	-	-	-	-	58	C	2.0	4	8.0	-	-	-	-	-	-	-	-	-				
B.S CS SP-2023-M-A-0012	Irsa Urooj	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	4	12.0	-	-	-	-	-	-	-	-	-				
B.S CS SP-2023-M-A-0014	Madiha Iram	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	4	14.0	-	-	-	-	-	-	-	-	-				
B.S CS SP-2023-M-A-0016	Manahil Zafran	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	4	16.0	-	-	-	-	-	-	-	-	-				
B.S CS SP-2023-M-A-0017	Mishal Ramzan	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	4	14.0	-	-	-	-	-	-	-	-	-				
B.S CS SP-2023-M-A-0018	Mohammad Abdullah Tanveer	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	4	10.0	-	-	-	-	-	73	B	3.0	4	12.0			
B.S CS SP-2023-M-A-0020	Muhammad Abdullah Alvi	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	4	12.0	-	-	-	-	-	-	-	-	-				
B.S CS SP-2023-M-A-0024	Muhammad Ehtisham	-	-	-	-	-	-	-	-	-	-	-	-	52	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-				
B.S CS SP-2023-M-A-0025	Muhammad Fahad Hanif	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-				
B.S CS SP-2023-M-A-0030	Muhammad Raheel Ibrar	-	-	-	-	-	-	-	-	-	-	-	-	57	C	2.0	4	8.0	-	-	-	-	-	-	-	-	-				
B.S CS SP-2023-M-A-0034	Muhammad Subhan Ahmed	-	-	-	-	-	-	-	-	-	-	-	-	58	C	2.0	4	8.0	-	-	-	-	-	-	-	-	-				
B.S CS SP-2023-M-A-0035	Muhammad Umar	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	4	16.0	-	-	-	-	-	-	-	-	-				
B.S CS SP-2023-M-A-0036	Muhammad Waqas	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	4	14.0	-	-	-	-	-	-	-	-	-				
B.S CS SP-2023-M-A-0038	Muneebah Naz	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	4	14.0	-	-	-	-	-	-	-	-	-				
B.S CS SP-2023-M-A-0039	Nabeel Afzal	-	-	-	-	-	-	-	-	-	-	-	-	35	F	-	4	-	71	B	3.0	3	9.0	-	-	-	-				
B.S CS SP-2023-M-A-0041	Raja Muhammad Ismail (Withheld d	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-					

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## B.S (Computer Science) 6th Semester, Section A, Morning, Session Autumn 2025

		CSC311-8					CSC322-1					CSC-502					CSC505					MTH-301					SSC303						
		Web Programming					Compiler Construction					Design & Analysis of Algorithms					Numerical and Symbolic Computing					Calculus & Analytical Geometry					Operating Systems						
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product		
B.S CS Aut-2022-E-B-0272	Ghulam Mujtaba Khan	64	C	2.0	3	6.0	10	F	-	3	-	2	F	-	3	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-2022-M-A-0001	Abdul Raffay Kafeel	78	B+	3.5	3	10.5	36	F	-	3	-	-	-	-	-	-	93	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-2022-M-A-0008	Fahad Aziz Dar	59	C	2.0	3	6.0	67	C+	2.5	3	7.5	-	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-2022-M-A-0038	Razeena Khalid (Withheld due to F)																																
B.S CS SP-2022-E-B-0253	Muhammad Ahmed Hassan	68	C+	2.5	3	7.5	50	D	1.5	3	4.5	-	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-A-0040	Murtaza Hussain Ali Jan	60	C	2.0	3	6.0	30	F	-	3	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-A-0042	Noor Ul Islam	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2022-M-B-0076	Hassan Saeed	23	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	82	A	4.0	4	16.0	
B.S CS SP-2023-Eve-0213	Isamul Haq	80	A	4.0	3	12.0	9	F	-	3	-	-	-	-	-	-	56	C	2.0	3	6.0	71	B	3.0	3	9.0	-	-	-	-	-	-	
B.S CS SP-2023-M-A-0002	Ahsan Khan	56	C	2.0	3	6.0	37	F	-	3	-	-	-	-	-	-	78	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-A-0005	Ansa Bibi	65	C+	2.5	3	7.5	86	A	4.0	3	12.0	-	-	-	-	-	87	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-A-0007	Ashiq Hussain	56	C	2.0	3	6.0	50	D	1.5	3	4.5	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-A-0008	Bader-Ur-Rehman	80	A	4.0	3	12.0	81	A	4.0	3	12.0	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2023-M-A-0009	Hasnain Habib Abbasi	50	D	1.5	3	4.5	50	D	1.5	3	4.5	-	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-A-0012	Irsa Urooj	56	C	2.0	3	6.0	75	B+	3.5	3	10.5	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-A-0014	Madiha Iram	65	C+	2.5	3	7.5	73	B	3.0	3	9.0	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2023-M-A-0016	Manahil Zafran	65	C+	2.5	3	7.5	72	B	3.0	3	9.0	-	-	-	-	-	93	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2023-M-A-0017	Mishal Ramzan	58	C	2.0	3	6.0	87	A	4.0	3	12.0	-	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2023-M-A-0018	Mohammad Abdullah Tanveer	70	B	3.0	3	9.0	70	B	3.0	3	9.0	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2023-M-A-0020	Muhammad Abdullah Alvi	71	B	3.0	3	9.0	77	B+	3.5	3	10.5	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2023-M-A-0024	Muhammad Ehtisham	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2023-M-A-0025	Muhammad Fahad Hanif	55	C	2.0	3	6.0	88	A	4.0	3	12.0	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2023-M-A-0030	Muhammad Raheel Ibrar	65	C+	2.5	3	7.5	82	A	4.0	3	12.0	-	-	-	-	-	90	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2023-M-A-0034	Muhammad Subhan Ahmed	71	B	3.0	3	9.0	58	C	2.0	3	6.0	-	-	-	-	-	95	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2023-M-A-0035	Muhammad Umar	65	C+	2.5	3	7.5	88	A	4.0	3	12.0	-	-	-	-	-	87	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2023-M-A-0036	Muhammad Waqas	70	B	3.0	3	9.0	87	A	4.0	3	12.0	-	-	-	-	-	73	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2023-M-A-0038	Muneebah Naz	66	C+	2.5	3	7.5	89	A	4.0	3	12.0	-	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2023-M-A-0039	Nabeel Afzal	65	C+	2.5	3	7.5	60	C	2.0	3	6.0	-	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2023-M-A-0041	Raja Muhammad Ismail (Withheld d																																

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 6th Semester, Section A, Morning, Session Autumn 2025

		SSE505					
		Object Oriented Software Engineering					
		Obtained	Grade	GP	Credits	Product	
B.S CS Aut-2022-E-B-0272	Ghulam Mujtaba Khan	65	C+	2.5	3	7.5	
B.S CS Aut-2022-M-A-0001	Abdul Raffay Kafeel	50	D	1.5	3	4.5	
B.S CS Aut-2022-M-A-0008	Fahad Aziz Dar	66	C+	2.5	3	7.5	
B.S CS Aut-2022-M-A-0038	Razeena Khalid (Withheld due to F						
B.S CS SP-2022-E-B-0253	Muhammad Ahmed Hassan	50	D	1.5	3	4.5	
B.S CS SP-2022-M-A-0040	Murtaza Hussain Ali Jan	65	C+	2.5	3	7.5	
B.S CS SP-2022-M-A-0042	Noor Ul Islam	-	-	-	-	-	
B.S CS SP-2022-M-B-0076	Hassan Saeed	-	-	-	-	-	
B.S CS SP-2023-Eve-0213	Isamul Haq	82	A	4.0	3	12.0	
B.S CS SP-2023-M-A-0002	Ahsan Khan	65	C+	2.5	3	7.5	
B.S CS SP-2023-M-A-0005	Ansa Bibi	84	A	4.0	3	12.0	
B.S CS SP-2023-M-A-0007	Ashiq Hussain	60	C	2.0	3	6.0	
B.S CS SP-2023-M-A-0008	Bader-Ur-Rehman	80	A	4.0	3	12.0	
B.S CS SP-2023-M-A-0009	Hasnain Habib Abbasi	70	B	3.0	3	9.0	
B.S CS SP-2023-M-A-0012	Irsa Urooj	60	C	2.0	3	6.0	
B.S CS SP-2023-M-A-0014	Madiha Iram	83	A	4.0	3	12.0	
B.S CS SP-2023-M-A-0016	Manahil Zafran	88	A	4.0	3	12.0	
B.S CS SP-2023-M-A-0017	Mishal Ramzan	82	A	4.0	3	12.0	
B.S CS SP-2023-M-A-0018	Mohammad Abdullah Tanveer	80	A	4.0	3	12.0	
B.S CS SP-2023-M-A-0020	Muhammad Abdullah Alvi	65	C+	2.5	3	7.5	
B.S CS SP-2023-M-A-0024	Muhammad Ehtisham	70	B	3.0	3	9.0	
B.S CS SP-2023-M-A-0025	Muhammad Fahad Hanif	75	B+	3.5	3	10.5	
B.S CS SP-2023-M-A-0030	Muhammad Raheel Ibrar	72	B	3.0	3	9.0	
B.S CS SP-2023-M-A-0034	Muhammad Subhan Ahmed	65	C+	2.5	3	7.5	
B.S CS SP-2023-M-A-0035	Muhammad Umar	81	A	4.0	3	12.0	
B.S CS SP-2023-M-A-0036	Muhammad Waqas	75	B+	3.5	3	10.5	
B.S CS SP-2023-M-A-0038	Muneebah Naz	83	A	4.0	3	12.0	
B.S CS SP-2023-M-A-0039	Nabeel Afzal	65	C+	2.5	3	7.5	
B.S CS SP-2023-M-A-0041	Raja Muhammad Ismail (Withheld d						

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

\_\_\_\_\_  
**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026





**FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD**  
**B.S (Computer Science) 6th Semester, Section A, Morning, Session Autumn 2025**

		CSC311-8					CSC322-1					CSC-502					CSC505					MTH-301					SSC303				
		Web Programming					Compiler Construction					Design & Analysis of Algorithms					Numerical and Symbolic Computing					Calculus & Analytical Geometry					Operating Systems				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-2023-M-A-0043	Raja Muhammad Zaryab Khalid	66	C+	2.5	3	7.5	85	A	4.0	3	12.0	-	-	-	-	-	87	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-A-0044	Raja Waleed Ali	65	C+	2.5	3	7.5	81	A	4.0	3	12.0	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-A-0045	Rasikh Mehmood	57	C	2.0	3	6.0	82	A	4.0	3	12.0	-	-	-	-	-	95	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-A-0047	Sanan Khan	33	F	-	3	-	11	F	-	3	-	-	-	-	-	-	35	F	-	3	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-A-0048	Sehar Eman	65	C+	2.5	3	7.5	77	B+	3.5	3	10.5	-	-	-	-	-	67	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-A-0054	Tallat Taseer	64	C	2.0	3	6.0	87	A	4.0	3	12.0	-	-	-	-	-	92	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-A-0055	Waleed Hassan	66	C+	2.5	3	7.5	65	C+	2.5	3	7.5	-	-	-	-	-	62	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0134	Ahsan Wahab	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	-	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0161	Sadaf Abid	61	C	2.0	3	6.0	80	A	4.0	3	12.0	-	-	-	-	-	87	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
BS CS Aut-20-M-0056	Waleed Hamdan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	12	F	-	3	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



**FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD**  
**B.S (Computer Science) 6th Semester, Section A, Morning, Session Autumn 2025**

		SSE505					
		Object Oriented Software Engineering					
		Obtained	Grade	GP	Credits	Product	
B.S CS SP-2023-M-A-0043	Raja Muhammad Zaryab Khalid	75	B+	3.5	3	10.5	
B.S CS SP-2023-M-A-0044	Raja Waleed Ali	70	B	3.0	3	9.0	
B.S CS SP-2023-M-A-0045	Rasikh Mehmood	80	A	4.0	3	12.0	
B.S CS SP-2023-M-A-0047	Sanan Khan	51	D	1.5	3	4.5	
B.S CS SP-2023-M-A-0048	Sehar Eman	76	B+	3.5	3	10.5	
B.S CS SP-2023-M-A-0054	Tallat Taseer	80	A	4.0	3	12.0	
B.S CS SP-2023-M-A-0055	Waleed Hassan	54	D	1.5	3	4.5	
B.S CS SP-2023-M-C-0134	Ahsan Wahab	70	B	3.0	3	9.0	
B.S CS SP-2023-M-C-0161	Sadaf Abid	84	A	4.0	3	12.0	
BS CS Aut-20-M-0056	Waleed Hamdan	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

\_\_\_\_\_  
**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026